5. Number of children visiting sports club for different activities has the following record :

Activities No. of children
Gymnastics 120
Acrobics 100
Swimming 150
Skating 240
Table tenms 110

Draw a pie chart to represent the above data.
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6. 180 sidents passed cluss X1lth of CBSE examination. Out of them number of students wishing
1o join different streams are as follows :

Stream Number of students g
Medical 35
Enginecering 50
Law 0
Commerce 45
Teaching 30

Represent the data by a pie chan.
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7. A survey regarding number of children watching different types of programmes is given in a table

below :
Type of T.V Programme No. of children
Action 10
Comedy I5
Drama B N
Science fiction 7
Spors 5

Present the data by a pie chart.
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8. During Dussehra holiday children of V1, VIl and VIIl were going for a trip. Number of students
opting for different places is given below. If a bus accommodates not more than 50 students, how
many buses nre needed? Complete the table and make a pie chart for the number of buses going
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~MULTIP QICE QUESTIONS

Tick () the correct option :
L. Thl.!nmllhﬂl'nfﬂmnlIpllﬁw|ﬂﬂlh}'mﬂminl!ﬂnfdlhlsmnllitl :
(a) range (b) class-size {c) frequency (d) class-interval
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3. The difference between the highest and the lowest values of the observations in a given set of
data is called its :

{s) mange {b) frequency {c) class-size {d) clnss-interval
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3. The difference between upper and lower class limits of & group is called :
{a) class-limit (b) class-size (c) class-interval {d) class-mark
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4. The mid-value of & class-interval is called its :

(s) class-limit (b) class-mark () class-width (d) range
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(a) class-limit (b) class-size (¢) class-interval (d) class-mark
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6. mlh:p'wnhinnpmihnnmtbwurwmkmnming
T 1500 to T 2000 in a week is :
(a) 10 (b).15
(e) 20 (d) 25

Sedden ()

Fraven bt a*-'of'fv e vuumbor of wWoykers
Whede _.e__q-,-n_}lﬁ? FSov +v F oo jna week.

Ic 20 .

7. The given histogram represents the daily wages of
the workers in a factory. The number of workers who L
eam T 150 or more in a day, is :

() 40 (b) 60
(c) 80 (d) 100
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. In the given histogram, the number of teachers whose
. -ge is between 35 - 40 is :
' {a) 2 (b) 4

{c) 3 (d) 7
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10. In the given pie chart, what per cent of the circle is occupied

by secior C?
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q‘ﬁr 'VALUE BASED QUESTIONS

mﬁnmmumwumww-m
h:ﬂﬁhﬂmmwhﬁnﬂmmi!lm
(a) What is the smount speot on cricket?
{b) mm—mi#mm&nmw
(¢) n which game minimum smount of money was spent?
(@) Find the ratio of the amount spent on lcanis to that spent 00
footbali, e :
(e) Wﬁmﬂ.mnﬂ?hﬂihhﬂﬂut
is just & waste of money? '
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